Control channels summary

All modes are normalized to 879,285 events

28 May 2024



Modes

B* - J/Psi K* 1.02 x 1073
J/IPsi - mu* mu 5.973%

B* - Psi(2S) K* 6.24 x 104
Psi(2S) - mu*mu- 8x 103

B* - Psi(2S) K* 6.24 x 104
Psi(2S) - J/Psipifpii 34 %

B+ . DO pi* 4.61x103

D° - K*pi 3.947 %
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1.7 < Mpadroe < 2.2 , 3.646 < Mpsies) < 3.726 , 3.056 < mypsi < 3.136 GeV



Cuts applied
Rank 1

Mpe > 5.27 GeV

abs(sin_phi) < 1.2

abS(COS(thag,pvistag)) <1.25

1.83 <mp <1.89 GeV
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Cuts applied
Rank 1

Mpe > 5.27 GeV

-0.050 < AE < 0.050 GeV
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Cuts applied
Rank 1

Mpe > 5.27 GeV

-0.050 < AE < 0.050 GeV

abs(sin_phi) < 1.2

abs(cos(pstag,Puistag)) < 1.25

1.83 <mp < 1.89 GeV
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COS(Pstag,Pvistag)

Cuts applied
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Best sum of cosine angles

Cuts applied
Rank 1

Mpe > 5.27 GeV
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Back up



Best sum around DP°
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Cuts applied

Rank 1

Mpe > 5.27 GeV

Best sum around D
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Best sum between D and D’

Cuts applied
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Best sum greater than D

Cuts applied
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Best sum less than D°
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Cuts applied
Rank 1

Mpe > 5.27 GeV
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Plep.tag
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Cuts applied
Rank 1
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Cuts applied
Rank 1

Mpe > 5.27 GeV

-0.050 < AE < 0.050 GeV

abs(sin_phi) < 1.2
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Cuts applied
Rank 1

Mpe > 5.27 GeV
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Number of leptons

Cuts applied
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Number of photons

Cuts applied 024 = n ccf
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Number of candidates

Cuts applied
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Cuts applied
Rank 1

Mpe > 5.27 GeV
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Cuts applied
Rank 1

Mpe > 5.27 GeV
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Cuts applied
Rank 1

Mpe > 5.27 GeV

-0.050 < AE < 0.050 GeV

abs(sin_phi) < 1.2
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Cuts applied
Rank 1

Mpe > 5.27 GeV
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1.7 < Mpagroe < 2.2 GeV

0.05

0.04

0.03

0.02

0.01

—

0 ccd
B*= D (K'n)pil Entries 13126
( )p Mean 1.861
B Std Dev 0.014
_ ! ! | ! ! | | | ! ! | ! ! !
83 1.84 1.85 1.86 1.87 1.88 1.89
Mpo
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